- - Z
Leger: 10,88 ¥ 5:36 = Go,a0 i
: 2
Laper: 2. Lo x b,bE = 13,%9¢
. :
ZHiro: 4,20 % 5,51 = 27,00 =
5
U 2,%1 x 1,05 = Loon M
—_—
110,349 o
-5 2 T ERTI .
= 2) i Vohnfliche
Cherzeschoss
. —— z
fohnen: 7,03x5,5%641,3773,29-5,470,65/2 = 0,87 ™
_ - - oo Z
%,41%5,56=3,41x%0,65/2 = 17,85 nm
z

5:3’5}:5156_ (5:55"’1’75) X 0165‘/2

i
V]
-
-
I
S
=

- — - L _ L r"‘
Liclen 1,92?},&&"!,"‘210,65 Fal = Dy i ™
- O 2 = = o7 h".f:
YTl 3,25x2,1Z e 2]
=] 2
siur: 1,05%%,3-1,05%0,65/2+1,0%x1,25 = 4,38 1
o - z
162,21 m
Y e 243 60
Te ) ZebiEude VII
el it e rinf il e v
o Gg;ﬁ»l°
N 2
5 1; m" wohnfidche
gl.Crdgeschoszs
sehiaf =, 7 5,60 = 20,77 m°
Schiglen: S0 X D,L0 »
’ Tl o 2
ehe 2,09 ¥ 5,60 = 0,9 x (2,7+0,20 )= 14,55 m
) : g 7
Liele: 1,30 % 2,40 = 4,26 n
A ey 2
piar: 2,10 X 0,Y0 = 2,09 m
e ”
~ s . o4 e
bad: Z,10 @ 2,12 . a0 T
'y 1ﬁ Y\lé.




b) Cberpeschoss

Fahnen: S,31%5, 60~ (5,%140,7+1,2) ¥ 0,55/7 = 27,17 ™

;

T A3 . 2 : R . oA _ o~ -
Sehlafen: 3,70 % 5,60 = (3,7¥2) » 0,68/2 = 15,%1 m

' -~

.

Flyr: 2,75 % o, 30 a,A8 ¥ o, 8573 = 2ot =
mAiwr: Syl XN Oyanh = O, 0,80 s = - 1

3 Z
aus (bergeschoss = £7,61 m
- 5
o 17 oA - .
96,74

jae

zllerfitche

5
14
=
S
o
]

LS
-
LR
v
e
A1
-
)
o}
1
b
L)
AN
.
e
in N
it
ande
&)
-
"
—t
2!

[
¥8ln, fen 27, Jsmusr 1024 3%, 18 7

Der Ligentiimer:




